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Chosen Option :

Q.1 Rishabhis a 10 year old boy. If his mother is 20 years older than him and 6 years younger than his father, then what is
his father’s age?
Ans X 1. 34 years
/< 2. 26 years
/< 3. 30 years
o 4 36 years
Question ID : 42442927
Status : Answered
Chosen Option : 4
Q.2 Select the option in which the given figure is embedded. (Rotation is not allowed)
Ans
p 0
v: &
X
p
Question ID : 42442948
Status : Answered
Chosen Option : 2
Q.3 Ina certain code language, PAGER is written as MIDOO. How will ANGEL be written as in that language?
Ans o 1. IKDOI
X 2. AOIDK
X 3. ILVDN
X 4. AVIDI
Question ID : 42442935
Status - Not Attempted and

Marked For Review

Ans

Q.4 Ina code certain code language, MUSIC is coded as 60 and TUNE is coded as 56. How will LYRIC be coded as in that
language?

Question ID : 42442936
Status : Answered

Chosen Option: 3
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Q.5

Ans

Read the given statements and conclusions carefully. Assuming that the information given in the statements is tiue, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
1. All doors are teachers.
2. All teachers are cups.

Conclusions:
L All cups are doors.
II. All doors are cups.

II.  All teachers are doors.
IV.  Some cups are teachers.

/< 1. Only conclusions I and II follow.
/< 2. Only conclusion I follows.

« 3. Only conclusions IT and IV follow.
/< 4. Only conclusions I and III follow.

Question ID : 42442944

Status : Answered

Chosen Option : 3

Q.6

Ans

Select the option that is related to the third number in the same way as the second number is related to the first number.
0128 T2

v 1 8l
X 2 102
X 3 105
X479

Question ID : 42442929

Status : Answered

Chosen Option: 1

Q.7

Ans

Arrange the following words in a logical and meaningful order.
1. Letter
2. Satellite
3. Telephone
4. Smartphone

X 1.8,2 14

X2 4,312

V3 1,3,4,2

X4 3024

Question ID : 42442934

Status : Answered

Chosen Option : 3
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Q.8 Ifthe following figure is folded to form a cube, then how many dots will be on the face opposite to the face having 2
dots?

Ans (1_ 1
X 26
X34
X4 3

Status :

Chosen Option :

Question ID : 42442945
Status : Answered
Chosen Option : 1
Q.9  Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.
INTEX : EINTX :: SMAIL:?
Ans 1. ALMLV
X 2. ATJKLM
V'3 ALLMS
X 4 LLAMV
Question ID : 42442937

Not Attempted and
Marked For Review

Q.10 Select the combination of letters that when sequentially placed in the blanks of the given letter series will complete the
series.
ab__ cba dd abed  _baa _ cba

Ans X 1. abeaacdecdeecdd
X 2. acbdecdeaacecdd
v 3. cddabecbadebedd
< 4 abbaacdeecdecdd

Chosen Option :

Question ID : 42442939
Status : Answered
Chosen Option : 3
Q.11 Select the combination of letters that when sequentially placed in the blanks of the given letter series will complete the
series.
e_geef gg ee f ggg
Ans
x 1. g; fj eq fe- f
X2 L]
Xafgfgg
viffeff
Question ID : 42442938
Status - Not Attempted and

Marked For Review

Downl oaded From : http://sscportal .in/

Court esy

SSC


http://sscportal.in/
http://sscportal.in/

Downl oaded From : http://sscportal .in/

Q12 Select the option figure that will come next in the following series.

et

.

g

%
e
%

Question ID : 42442946

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.13 Four letter-pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-
pair.

Ans  of 1. BE
X 2 AY
X 3 US
< 4 OM

Question ID : 42442942
Status : Answered
Chosen Option: 1

Q.14 Aand B can do a piece of work in 30 days and 18 days respectively. A started the work alone and then after 6 days B
joined him till the completion of the work. In how many days has the whole work completed?

Ans X1, 17
V2 15
X309
X412

Question ID : 42442933
Status : Answered
Chosen Option : 2
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Q.15 Select the option in which the words share the same relationship as that shared by the given pair of words.
Chair : Furniture

Ans  of 1. Letter paper : Stationary
X 2. Pencil : Wood
/% 3. Bicycle : Travel
X 4 Seat : Cover
Question ID : 42442941
Status : Answered
Chosen Option: 2
Q.16

How many triangles are there in the given figure?

Ans x 1. 12
X210
VER:
X413

Question ID : 42442947
Status : Answered
Chosen Option : 3

Q.17 WWhich two signs should be interchanged to make the following equation correct?
4+-6+9-48x8=27

Ans 1. +and =

XA 2 +and -
A 3 +and+
W 4 +and x

Question ID : 42442928
Status : Answered
Chosen Option : 4

Q.18 Select the number that can replace the question mark (?) in the following series.
2,8,15,24,36,52,7

Ans x 1. 83
v 2 73
< 378
X 4 63

Question ID : 42442932
Status : Answered
Chosen Option : 2
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Ans

Q19 Study the following diagram and answer the given question.

18

A = Persons who like tea

10
e / ( \zo )u O
1218 i
= Persons who like juice
12 \§

[

—  Persons who like coffes

How many people like both tea and coffee. but do NOT like juice?’

Question ID : 42442951
Status : Answered
Chosen Option : 2

Ans

16X 1842 - 14+3=38
A 1. 14 and 18, + and —
X 2 16 and 14, — and x
+ 3 14 and 18, +and
& 4 16 and 3, —and +

Q.20 Which two signs and numbers should be interchanged to make the following equation correct?

Question ID : 42442931
Status : Answered
Chosen Option : 3

Q.21

Ans

Which of the options is the exact mirror image of the given alphanumeric figure when the mirror is held at the right

side?

AHTOITG46Q34

v MEQALOTIOTHA
X2 &hQILDITOTHA

X2 p€OIPGLIOHTYV
X 4 $€O9PGLIOLHV

Question ID : 42442950
Status : Answered
Chosen Option: 1
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Q.22 A paper is folded and cut as shown in the following figures. How will this paper appear when unfolded?

o 0| &

Ans
r Tr
( s
1.
0O %
O Tr
r r
&2
(o) r
o
3.
x o &
7 T
T
p
cri S
(0] r

Question ID : 42442949
Status : Answered
Chosen Option : 1

Q.23 Sheela introduced Rahul saying, “His sister is the single daughter of my mother”. How are Rahul and Sheela related to
each other?”

Ans X 1. Uncle-Niece
/< 2. Cousins
' 3. Brother-Sister
< 4 Son-Mother

Question ID : 42442940
Status : Answered
Chosen Option : 3
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Q.24 Select the set in which the numbers are related in the same way as are the numbers of the following set.
(2.6,32)

Ans 1. (0, 13, 43)
X 2 (4,12, 36)
3 (8,18, 80)
X 4 (4,8, 34)

Question ID : 42442930
Status : Answered
Chosen Option: 2

Q.25 Ina certain code language, *APRICOT is written as *GLXRIKZ then how will ‘ORANGE’ be written in the same code
language?

Ans X1 LIZMTV
X 2. VINZHM
v 3 VIMZIL
X 4 LTHZMSV

Question ID : 42442943
Status : Answered
Chosen Option : 3
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